

SHY CREATION INC  
 631 S Olive St #900  
 Los Angeles, CA 90014  
 Tel: 213-623-8900  
 Fax: 213-623-0860  
 www.shycreation.com  
 info@shycreation.com

## VENDOR JOB

Job #:	22044
Vendor #:	SC55
Job Date:	2/19/2026
Request Date:	2/19/2026

### Billing Address:

SUCRE JEWELRY DESIGN LTD  
 UNITS 4&5, 10/F, GUARDFORCE CENTRE  
 NO.3 HOK YUEN STREET EAST  
 HUNGHOM, KOWLOON, HONG KONG  
 PHONE#: 852-2311-1880

# SHY CREATION INC.

### Shipping Address:

SUCRE JEWELRY DESIGN LTD  
 UNITS 4&5, 10/F, GUARDFORCE CENTRE  
 NO.3 HOK YUEN STREET EAST  
 HUNGHOM, KOWLOON, HONG KONG  
 PHONE#: 852-2311-1880

Pic	PO #	Vendor Model No	Description	Qty	Gold Weight	Total Weight	Total Value
	SHY-1000083115	SN57863U104	14K NECKLACE	2.00	3.37	6.74	\$ 641.29
	SHY-1000083119	SB36505U104	14K BRACELET	3.00	1.26	3.78	\$ 359.66
	SHY-1000083119	SB36505U104	14K BRACELET	1.00	1.26	1.26	\$ 119.89
	SHY-1000083119	SG23833XS104	14K BANGLE	1.00	9.27	9.27	\$ 882.02
	SHY-1000083119	SG23833XS104	14K BANGLE	2.00	9.27	18.54	\$ 1,764.03
	SHY-1000083119	SG24613SU104	14K BANGLE	2.00	13.03	26.06	\$ 2,479.54
	SHY-1000083119	SG24613SU104	14K BANGLE	2.00	13.03	26.06	\$ 2,479.54
	SHY-1000083119	SG24613XS104	14K BANGLE	1.00	10.99	10.99	\$ 1,045.67
	SHY-1000083119	SE22734U104	14K EARRING	4.00	0.97	3.88	\$ 369.17
	SHY-1000083119	SE22734U104	14K EARRING	2.00	0.97	1.94	\$ 184.59

	SHY-1000083119	SB36505U104	14K BRACELET	8.00	1.30	10.40	\$ 989.53
	SHY-1000083119	SB36505U104	14K BRACELET	1.00	1.30	1.30	\$ 123.69
	SHY-1000083119	SE22734CU104	14K EARRING	4.00	1.81	7.24	\$ 688.87
	SHY-1000083119	SN22734U104	14K NECKLACE	2.00	2.79	5.58	\$ 530.92
	SHY-1000083120	SN52173U104	14K NECKLACE	1.00	1.99	1.99	\$ 189.34
	SHY-1000083121	SE57271RD104	14K EARRING	1.00	3.52	3.52	\$ 334.92
	SHY-1000083121	SN57904U104	14K NECKLACE	1.00	3.01	3.01	\$ 286.39
	SHY-1000083122	SR60558U104	14K RING	1.00	8.12	8.12	\$ 772.60
	SHY-1000083124	SE51974U104	14K EARRING	1.00	1.35	1.35	\$ 128.45
	SHY-1000083100	SE43509U104	14K EARRING	1.00	2.61	2.61	\$ 248.33
	SHY-1000083103	SB37006U104	14K BRACELET	1.00	2.58	2.58	\$ 245.48
	SHY-1000083103	SN54866U104	14K NECKLACE	4.00	3.02	12.08	\$ 1,149.38
	SHY-1000083105	SB44039U104	14K BRACELET	1.00	3.91	3.91	\$ 372.03

	SHY-1000083105	SB57612U104	14K BRACELET	1.00	1.93	1.93	\$ 183.63
	SHY-1000083105	SB59614U104	14K BRACELET	1.00	1.19	1.19	\$ 113.23
	SHY-1000083105	SE55786U104	14K EARRING	1.00	2.45	2.45	\$ 233.11
	SHY-1000083105	SN55786U104	14K NECKLACE	1.00	2.34	2.34	\$ 222.65
	SHY-1000083105	SR55786U104	14K RING	1.00	2.08	2.08	\$ 197.91
	SHY-1000083105	SN62017U104	14K NECKLACE	1.00	2.25	2.25	\$ 214.08
	SHY-1000083105	SR60202U104	14K RING	1.00	4.25	4.25	\$ 404.38
	SHY-1000083105	SR64574RD104	14K RING	1.00	3.72	3.72	\$ 353.95
	SHY-1000083105	SR51419U104	14K RING	1.00	1.34	1.34	\$ 127.50
	SHY-1000083105	SR32067U104	14K RING	1.00	1.97	1.97	\$ 187.44
	SHY-1000083105	SN64572U104	14K NECKLACE	1.00	3.59	3.59	\$ 341.58
	SHY-1000083108	SE62034U104	14K EARRING	1.00	0.90	0.90	\$ 85.63
	SHY-1000083108	SE62149U104	14K EARRING	1.00	4.27	4.27	\$ 406.28

	SHY-1000083108	SE40633U104	14K EARRING	1.00	1.60	1.60	\$ 152.24
	SHY-1000083108	SE59106U104	14K EARRING	1.00	9.57	9.57	\$ 910.56
	SHY-1000083108	SN55698U104	14K NECKLACE	1.00	2.07	2.07	\$ 196.96
	SHY-1000083108	SR60092RD104	14K RING	1.00	5.92	5.92	\$ 563.27
	SHY-1000083108	SN62118U104	14K NECKLACE	1.00	3.61	3.61	\$ 343.48
	SHY-1000083108	SR57901U104	14K RING	1.00	2.76	2.76	\$ 262.61
	SHY-1000083108	SN59971U104	14K NECKLACE	1.00	4.43	4.43	\$ 421.50
	SHY-1000083108	SN25171XU104	14K NECKLACE	1.00	1.71	1.71	\$ 162.70
	SHY-1000083108	SE25171XU104	14K EARRING	1.00	1.05	1.05	\$ 99.90
	SHY-1000083108	SE55837RD104	14K EARRING	1.00	3.51	3.51	\$ 333.97
	SHY-1000083108	SR61195U104	14K RING	1.00	3.29	3.29	\$ 313.04
	SHY-1000083108	SE62028U104	14K EARRING	1.00	5.64	5.64	\$ 536.63
	SHY-1000083108	SN62028U104	14K NECKLACE	1.00	3.92	3.92	\$ 372.98

	SHY-1000083108	SE56654RD104	14K EARRING	1.00	2.54	2.54	\$ 241.67
	SHY-1000083108	SE55840U104	14K EARRING	1.00	2.49	2.49	\$ 236.92
	SHY-1000083108	SE60786U104	14K EARRING	1.00	3.56	3.56	\$ 338.72
	SHY-1000083108	SN64572U104	14K NECKLACE	1.00	3.59	3.59	\$ 341.58
	SHY-1000083108	SN55621U104	14K NECKLACE	1.00	2.26	2.26	\$ 215.03
	SHY-1000083108	SN57973U104	14K NECKLACE	1.00	3.22	3.22	\$ 306.37
	SHY-1000083114	SN25171XU104	14K NECKLACE	2.00	1.68	3.36	\$ 319.70
	SHY-1000083114	SE23799U104	14K EARRING	1.00	1.16	1.16	\$ 110.37
	SHY-1000083114	SE56675RD104	14K EARRING	1.00	3.32	3.32	\$ 315.89
	SHY-1000083114	SN51956U104	14K NECKLACE	1.00	2.31	2.31	\$ 219.79
	SHY-1000083114	SE25171XU104	14K EARRING	1.00	1.05	1.05	\$ 99.90
	SHY-1000083114	SE55163XU104	14K EARRING	1.00	3.34	3.34	\$ 317.79
	SHY-1000083114	WE60590U104	14K EARRING	1.00	5.83	5.83	\$ 554.71

	SHY-1000083114	SB54270U104	14K BRACELET	2.00	5.95	11.90	\$ 1,132.25
	SHY-1000083114	SB54746RD104	14K BRACELET	1.00	14.20	14.20	\$ 1,351.09
	SHY-1000083114	SN64572U104	14K NECKLACE	1.00	3.59	3.59	\$ 341.58
	SHY-1000083114	SE46476U104	14K EARRING	1.00	1.21	1.21	\$ 115.13
	SHY-1000083114	SE62239XU104	14K EARRING	2.00	1.37	2.74	\$ 260.70
	SHY-1000083103	SR54875QU104	14K RING	2.00	2.28	4.57	\$ 434.71
<b>TOTAL</b>				<b>96.00</b>		<b>329.80</b>	<b>\$ 31,380.47</b>

x Veronica Schauer-West  
Authorized Signature